E E LA &I Afian drdurasnseiunseeEy
L/ N [ LUREI

fia: Juii: ATLLUL:
Lol vany - 25(52+ 2) = 5% 2 42,6
4 T2 T30 ‘

1 2 _ _
6(= —24)+2x3—-Z = 3.8+4(5.8-2.9)

6 3

573 : 5 : 8+ 3

3 3

33— 2(5 —22)= (§ +32)x5+2.6=

1 1 1 3 1
—+ - )X2+ == 1033+ ) +2x4+ - =
373)%273 3.3+ 35)=2x4+5

www.snowmath.com



AR &IU nATlan Srduuainisatiunsan AL

+4.1)= —

1
6(z —24)+2x3~

23
)= (_20%)

2 73 3
(g - 32) X 4+ 39 - (_E) - (_7E)

3
33-2(z -22)

1 1
—+ = )x2+
(3+3)

LUREI
Juii: ATLLUL:
2 919 4
25(52+ =)+5%x24+26= — =61 —
5(5 3) 5 6 3 6 3
77 2

1 1 197 7
—x15+3+438+ )= —=19—
2 ( 2) 10 10

3 108 3
Z4+32)x5+426=— =212
(5+32) 5 5

3 1157 _1
1033+ 2)=2x4+ =" =78~
033+ 2)+2x4+ 5= == =T8>

www.snowmath.com




